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— 2 =X 180,000& x105 *12& 21,600
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AR SR = =g~
HE: sAsE0 4E B4
el B4 ZM U (sl &2)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
- A3 50,000& 10122 6,000
st =0t Me 64,800 0 64,800
Jl 33,000
£ 6,600
[Ea 25,200
301 LetEa= 64,800 0 64,800
Jl 33,000
S 6,600
[Ea 25,200
NIIg24=3 64,800 0 64,800
Ostd S0+ Mg X 300,000& 270X «80% 64,800
Il 33,000
< 6,600
= 25,200
SAMAME SEUEAY 556,327 0 556,327
Il 556,327
402 2I2tXt=01& 556,327 0 556,327
Il 556,327
01 et HEAMAEE 556,327 0 556,327
OSAMAIE S ALY X 556,327
Jl 556,327
st FTA Dl EM AT 2= 540,000 0 540,000
Jl 540,000
301 LetEa= 540,000 0 540,000
Jl 540,000
NIJI2d= 540,000 0 540,000
OFTA 28X EX =M K& 120,000
Il 120,000
OFTA 28 WY X&=s 420,000
Jl 420,000
HoldE =MEMSHI2 307,500 307,500 0
308 XXM SO0IH 307,500 307,500 0
07 XA 2AHEE =S 307,500 307,500 0
OFALE SMENSHIIZ 24 2832 307,500
g3 Sy |l 2,580,930 1,699,060 881,870
= 2,540
= 1,023,821
a 1,554,569
FRo X (EX) 2,540 2,540 0
= 2,540
202 o4l 2,540 2,540 0
= 2,540
01 S LHO I 2,540 2,540 0
Og=2el X 2,540
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n0

Kio

Hl w

A 23,300
45,500

45,500

A 500
A 500

A 500

62,287

12,575

12,575
44,712

44,712

5,000

5,000

734,763

H3r
Wikd
RIS

68,800

9,500

684,500

9,500

675,000
675,000

901,240

901,240

901,240

Off &t 24

(i

2,540
45,500
45,500

45,500
45,500
21,000
24,500

9,000
9,000

684,000

1,500
7,500
675,000
675,000
675,000

963,527
289,058
674,469

H

mH

12,575
3,772
8,803

12,575

12,575
3,772
8,803

945,952

H

mH

H

283,786
662, 166

1

945,952

945,952

H

283,786
662,166

mH

5,000

H

1,500
3,500
5,000
5,000

mH

H

1,500
3,500

734,763

734,763
734,763

H

307 21201 &

Ki
iy
[

<0
R0
~

oJ

Ar
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M0
M0

2«3, 0000H *70%

1 x50, 0000H *70%
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=
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700

20 PY

—ppx
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KF

= o
e

ZH
Sy

03 Al

4«50 CH +50%

=

o

27,000,000

=Y
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fHI XIHRE X2
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A=20ld
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O"sS

oM
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<

no
El
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MIIEtEd=

308 A+XIEHH
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- 368 -

ord

=

=)

308 A+XIEHH




SN WSS
HE: sAsE0 4E B4
Chel: HE SdHEH | 2e (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 734,763
08 mFJl20UstE=x 734,763 0 734,763
Oz, ssd 24 g4 XA 734,763
S 734,763
SEBANASHEE HH 15,000 5,000 10,000
206 M= Hl 15,000 5,000 10,000
01 =8l 15,000 5,000 10,000
Os2ANAE & MSHE 2,500& *6, 0004 15,000
sttERsS2s 135,600 36,980 98,620
202 O4dl 2,400 3,900 A 1,500
01 = LH 4 bl 2,400 3,900 A 1,500
O=SAS XBA 4 60,0008 2% +202 2,400
301 et A= 3,200 3,080 120
09 &AL HI B &S 3,200 3,080 120
O=S¢ttE HEHAL MM 24
200,000& 200 & Xl *53] 2,000
OsS4sE 9 2ot 24
60,000 «2H 102 1,200
307 glz2tol & 130,000 30,000 100,000
02 HAFHAANFEE 130,000 30,000 100,000
OU T Al BH= S A} 2,000,000& =103l 20,000
OXETAXA SSAS HH s Al
5,000,000& »23l 10,000
OZZ4 eyl XA 4,000& *50, 000 & *50% 100,000
st MARSHA 2= 1,251,407 3,107,584 A 1,856,177
= 612,186
< 75,296
= 563,925
O=2Sgxdeld AXTAIL 540,000 0 540,000
= 450,000
< 27,000
s 63,000
402 2I2H X201 M 540,000 0 540,000
= 450,000
< 27,000
s 63,000
01 It AL E X 540,000 0 540,000
OAXZMEBAELX A 900,000, 000 *60% 540,000
= 450,000
< 27,000
s 63,000
s&E2 AEN2MED X 144,000 36,000 108,000
402 RIZ2FXt20l ™ 144,000 36,000 108,000
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2A: MEHA=sHD
HE: sAsE0 4E B4
Sel SN2 ANRSHH PE CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 QIZEXIE2AIE 2 X 144,000 36,000 108,000
Os4tE8 A8M2MHED &
6,000,000 *48= x50% 144,000
SHE AEHM2MHED X XNSAE 36,000 36,000 0
& 14,400
= 21,600
402 SI2FXHE0| & 36,000 36,000 0
& 14,400
= 21,600
01 QIZEXIE2AIE 2 X 36,000 36,000 0
O=s4tE8 A8M2MHZD &X
6,000,000 *12CH *50% 36,000
& 14,400
= 21,600
LESHE MAXSSLSHXA) 206,900 26,490 180,410
201 Bt 17,700 12,450 5,250
01 AP 22| H| 17,700 12,450 5,250
OsHE /AKX TAISS AEH HXE
500& x1,5000H 750
O2HM=2 e-HHA KNGELNMS B2 e 16,950
— QEQOI SHSHAHI(HE M, MAISHS
A 3,000,000 43| 12,000
— Q03 HOIX M &
330,000 *3001 A x1/2 4,950
202 044 1,200 2,040 A 840
01 2L Hl 1,200 2,040 A 840
OJMIXHEA AIZNE &= 60,0003 *x2H x5 600
OMIKREHH ANZ2RE &=
60,0003 2% x5 600
307 212t0| & 50,000 0 50,000
02 QI AAIE E X 50,000 0 50,000
OWXl RESE43 A2
50,000,000 * 100 £ 50,000
402 SI2FXHE0| ™ 138,000 12,000 126,000
01 QIZEXIE2AIE 2 X 138,000 12,000 126,000
OsdtE 8 & AIEXE
200,000,000 * 174 2 x60% 120,000
OzZdZE 2435 A&
30,000, 000& *1JH 2~ *60% 18,000
LESHS MISE 2EH(EX) 324,507 9,094 315,413
= 162,186
=} 33,896
= 128,425
301 et A= 28,607 9,094 19,513
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SN WSS
HE: sAsE0 4E B4
Sel SN2 ANRSHH PE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 14,286
= 4,296
= 10,025
11 J|EtE A S 28,607 9,094 19,513
OGAPRIES = ot H 2HAHHl XI& 20,409
= 14,286
& 1,837
= 4,286
OGAP IS H =22 K& 8,198
= 2,459
= 5,739
307 QI2t0| ™ 295,900 0 295,900
= 147,900
= 29,600
= 118,400
02 QI2tAAMAIE E =X 295,900 0 295,900
OsitE8 2o 20X 105,900
= 52,900
& 10,600
= 42,400
OsdtE OHAHE X 190,000
= 95,000
o=} 19,000
= 76,000
AZEISNE RS 163,720 76,000 87,720
= 2,000
= 161,720
AMEAMA=SH 2T 158,720 71,000 87,720
201 LBt 9| 32,000 28,000 4,000
01 AP 22| d| 30,000 0 30,000
OEEANAME JIZ2AZF2Y 3,000& =10, 0004 30,000
03 HAI2 G HI 2,000 28,000 A 26,000
ORAUAESHAESAIY SH FAS WA
2,000,000 *13] 2,000
202 044l 720 1,200 AN 480
01 2L Y| 720 1,200 AN 480
OAlZetetg| & A 60,000 «2H x5 720
301 LBt A= 4,000 11,800 ANT7,800
09 SHAIAHI B A2 4,000 11,800 A7,800
OAIZAY A AI EIISEHME &
200,000 404 & M *53] 4,000
307 2Iz2to| & 22,000 0 22,000
02 DI AAIE E X 22,000 0 22,000
OYBRAUSH E2Y|(&,54)
11,000,000& *23| 22,000
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FN: HEIsEL
HE: sAsE0 4E B4
SRl ABIIBAYRY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 DI2HX 20| & 100,000 15,000 85,000
01 It 2 AL E X 100,000 15,000 85,000
OBAUSH 4 MMAH TIHXS
1,000,000 » 125K 2 x80% 100,000
SAS ZICONY HEMAXA 5,000 5,000 0
< 2,000
s 3,000
307 glz2tol & 5,000 5,000 0
< 2,000
s 3,000
02 It HAHEE 5,000 5,000 0
OsAE ZHONL WY MEXH 5,000
< 2,000
s 3,000
NEESAY & ZEYA 1,320,000 1,231,000 89,000
X 775,000
< 144,000
s 401,000
SEMY SHAY 1,020,000 871,000 149,000
Xl 525,000
< 144,000
i 351,000
SZ WD 2L &Y 1,020,000 871,000 149,000
Xl 525,000
< 144,000
e 351,000
307 glz2+ol & 1,020,000 407,000 613,000
Xl 525,000
< 144,000
e 351,000
02 HAFHAANGFEX 1,020,000 407,000 613,000
O6Xtat e A X 7 =4 900,000
Xl 450,000
< 135,000
i 315,000
O6XHatH 3 AALAH P A 120,000
Xl 75,000
< 9,000
[ia 36,000
SHELR S s 300,000 360,000 A 60,000
Xl 250,000
fia 50,000
A FolTet2=s 300,000 360,000 A 60,000
Xl 250,000
i 50,000
402 RIZ2EX=20l A 300,000 360,000 A 60,000
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AN dEIsH
3 X Eag =

el =

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
N 250,000
= 50,000
01 QI2FAI2AIE 2 X 300,000 360,000 A 60,000
OHEAEMAET 300,000
Xl 250,000
= 50,000
#¥yIHY (S =sH ) 208,820 206, 360 2,460
ol 2 AH| 113,006 113,124 A 118
Ol A4 H| 113,006 113,124 A 118
101 @121 H| 113,006 108,924 4,082
01 B 100,255 96,281 3,974
OANZRAI2 2 HH=Z(231) 24,625
- 53 11,5912 x 1H «10A| 2tx 12 1,391
— 62 9,886& *5H *10A| 2tx12& 5,932
73 8,930& * 12 *10A| 2+ * 128 12,860
— 82 88,0173 *1H *10Al 2tx12& 963
- 9= 7, 2473 *4H x10A| 2t x 128 3,479
Oz 9, 1343 x23H x30A| 2tx12& 75,630
02 JIEt®8 2 12,751 12,643 108
O3 =2 A 12,751
—AN2AAZ RS (HFHZ)
6,608 *1H*10A| 2+ *12& 793
— X2 6,608 *2%H *30A| 2t x 128 4,758
—gogs&dd3 600,000& x1Hx12& 7,200
Jl=23 bl 95,814 93,236 2,578
Jl23Hl 95,814 93,236 2,578
201 LBEt2 A Y| 47,914 45,616 2,298
01 AP 22l Yl 45,477 43,879 1,598
Ogets2 S HAH A 22,137
O3 SHAH & 23,340
02 35249t 2,437 1,737 700
O332=2 2 HA 1,737
— 4 BRAiY HASHAN 2BLSH
1,930& 900 & 1,737
ONFMIXNSK BEEZ 700,000& = 1CH 700
202 04| 43,100 45,620 N2,520
01 2LH O HI 43,100 45,620 N 2,520
OZHodl(2tLH) 27,980
O=2Wodl(22l) 15,120
203 R =&lY| 4,200 0 4,200
04 ENSI IR =AY 4,200 0 4,200
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n0

Kio

Hl w

H3r
Wikd
RIS

Off &t 24

A 1,400
A 1,400

2,000
2,000

4,200
600
600
600

12
10H
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